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(A) Driver - (B) Compiler (C) Operation System (D) BIOS
2.uT%&f@zﬁ’%mﬁ%~&M%eﬁMM£$£¢?

(A) MM 752N : RAM, Hard Disk, Magnetic Tape (B) 1& 4 #15 +& : RS232, USB

(C) A% E : OCR, Scanner, Digital Camera (D) #93%3% % : Repeater, Router, VPN -
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(A) IPv6 (B) m-Commerce (C) VRML, VOD (D) e-tailing, HTML
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(A) Binary, Decimal (B) Binary, Hexadecimal (C) Decimal, Hexadecimal (D) Digital

6. BRAEBERT TR BEMAEHE - B A BT R AR ? D
(A)SAPR3, % # WorkFlow ERP, 12 SCM
(B) Microsoft Office, Oracle DBMS, ### PCCillin ¢
(C) Microsoft Windows 200, Redhat Linux
(D) HD Driver A ’ R
7. AREARGIE o W AT — K e FRTHA DY %
(A)SAPR3, £ % WorkFlow ERP, I2 SCM (B) Microsoft Office, Oracle DBMS, ##% PCCillin
(C) Microsoft Windows 200, Redhat Linux (D) Java, C++

8. —MME » —18% %4y ERP AROSRENE T
(A)DBMS #4442 (B) MRP ##4 % % 28,81 O ANERERE D) BHFE

9. UTFH—EREFRHELAE BEMM%?

(A) Firewall, VPN (B) PKI, Encryption, DES, RSA
(C) Recovery Plan, Off-site storage (D) CSMA/CD, Token bus
10. LUF 7 — 38 fo fi 44 4928 8 Bf) 7
(A)IEEE 803.11 (B) 10Base5 (C) Microwave (D) Radio frequency

1 T — R o iR W &4 2
(A) Multi-processing  (B) Parallel computing  (C)DBMS (D) Array operations in computer languages
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(A) #35EH - 400 (B) €1k (C) ERP D) ©¥mBEHFH
B AFH—10RE  RAALEBEIEWAER
(A) Robotics (B) Natural Language Processing (C) Expert Systems (D) Data Mining
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(A) CPU B) Storage device (C) Commmmications device (D) Display monitor
I5. AT~ 185 8 > fokgesde 2 & W) ho B E R E B4 M 14 2
(A) PKI: Public Key Infrastructure (B) CA: Certificate Authority

(C) RFID: Radio frequency identification (D) Digital Signature
16. LA — 46 3518 80 » R & RHEBNH W

(A) ADSL (B) Virtual private network (C) Modem dial-up (D) 10BaseT Ethernet
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(A) DNS server (B) Repeater (C) Bridge (D) Router
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FHRHMEA T A 49 WorkFlowERP $24 » % ¥ £ — 18 Windows 2000 Server b - & M MS SQL Server
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B ¥ R &4 — 1 Windows 2000 Server k4 f§ MS SQL Server R B4 & 4t A /7 M4 T RE A 40
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(A) B8R bmnyg (B) mATHETMHG T £
(C) A % 4 half-bridge & 4% (D) #8/ SeedNet & ADSL #93%
19. 37 X &9 10Base2 #3% + #5442 ©
(A) #ATaEsh > £ 10 Mbps i & 83 (B) #= E 8 TH > 14 10 Mbps ik 885

(C) Cat-5 Mg 4 4 » 22 100 Mbps i& /& 1 ¥ (D) 4@k > 22 100 Mbps & & 48
20 BEXNGEHMES > FUATFHAEL

(A) 1% A Token-passing 2% # % & & 3 435 (B) Cat-5 M AR 424k > 54 100 Mbps i& & {88

(C) FMemss > 1 100 Mbps i& & (%8 (D) #& A Ethernet $83% > $% B CSMA/CD W ¥:13 %
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(A) REMERARMA (B) MBRE QR © Z&ie®m (D) BWFABRIKL
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(A) Bus topology (B) Ring topology  (C) Star topology D) R L%k
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B 285 5% 41 9
(A)AFf B2  (B)BFfDzH (C)B A F 2 I (D) A #o Internet .z pg
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(A) Web Server (B) Database Server (C) DNS Server (D) Windows 2000 Server
5. LBMATHAZFETHS S~
(A) Database Server (B) Router (C) Switch (D) Firewall / o \ J
26. A ZARR I kT 40 ML E 230 4 0'™), On), O(2°5™), O(1.1") + 4% BB 5 R A4 &/ 30 K > 3t Al N
R A
(A) 025", O@'®), 0(1.1™, O(n!) (B) O(2%™), O(1.17), O(n'®), O(m!)

(C) O(1.1%), O(2°8™), O(nt), On'*) (D) O(1.1), 028", O(n'®®), O(n!)
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27 Bdo B — 48 key MM B HIREAR — 1 BBy {8 FA£ 15 74 % #t(optimal binary search tree) » 5T 1
TR T FI9— M 4575 R KAk ? '
(A) R %04 (greedy method) (B) % & 4.$1 % (dynamic programming)
(C) & ¥k (backtracking) (D) %184 & ;% (divide-and-conquer)
28. F P —E R R ey 9
(A) If A is NP-complete and B A, then B is NP-complete

(B) If A can be solved in polynomial time and B c A, then B can be solved in polynomial time

(C) If A is an NP-complete problem, then it will always take expornential number of steps to solve problem A for
all kinds of inputs

(D) Every problem in NP is a difficult problem
29. T 5B — A Bk S5 ok 2 B £ BRSO b 8 4 K $ L% Onlogn) ?

(A) radix sort (B) quick sort (C) insertion sort (D) merge sort
30. °F 3 AR — 4G 3k B ik At BRI NBE S 2
(A) heap sort (B) quick sort’ (C) insertion sort (D) merge sort
31 F SUM — HHE /5 2k R S 04745 4 948 72 1 (stable) 2 |
(A) heap sort (B) bubble sort (C) insertion sort (D) merge sort
32. R 32 if 3@ 7% o g4 52 X (recursive program)e¥ > R4 REEHEE 5% $t(local variables)#y ¥ 4 £ 1 A
(A) linked-list (B) stack {C) queue (D) tree
33. 4% F 5 6 HAlr X (A+BY*C-D/E 2 B 1 /5 th 4 75
(A) AB+C*DE/- (B) ABCDE+*/- (C) +*/-ABCDE (D) -*+ABC/DE

34. °F 5 A M hashing function &34 it » AR —3E L 4% a4 9
(A) bucket size fo loading factor &) A /K 4 % %8 hashing function & #4732 %
(B) 4 8 54 3% (digit analysis)#§ S48 & 575 44 5 7 34 & 84 A8 digit £ i R4 % keyr F ¥ T Ui & collision ‘
IR ;4 |
(€) 12 MOD(key, M) ¢ 4% % hashing function + F# M i 4 & & # ‘ |
(D) linear probing, double hashing #o hashing with chaining #8 & & 32 collision & #% 55 |
35. FFIA M order-m B &Y tree #) 4k itt R — 8 R4 i%ag O
(A) 1AK% E 5% m 18 key
(B) FR T root fo leaf i sh + 3t ket P9 45 26 2 b AT m/2 Ul 34
(C) P75 & leaf 414 F] — B » B A root Bl42 47— /8 leaf A7 42 3% & 2548 47 — # &
(D) &4 - & % #t(concatenation, redistribution) & B tree 2 BI% %4 55 B £ £ 6438 4% )4k |

36. 5 HABRALIE B 3 40 13K A 5 55 600 4 » SR gol - FRSTE $o1 ] [P

(A) 25ms (B) 50ms (C) 100ms (D) 200ms ‘
37. F ${#F — 4 disk scheduling algorithm 7T gt ¢ i& A% 4k request K Sk AT 69 LA & (starvation) ?
(A) first-come-first-served (B) shortest-seek-time-first (C) SCAN (D) C-SCAN-

38. Page size 4 k) il % % 256 ~ 4096 bytes » FHA R & P — R Re ?
(A) $H¥& ) page table ey kR & § » A& page size th i X — ¥&
(B) $t#f3#jo memory thFI M £ R 4§ » £ ¥ page size Hb# Kk — ¥k
©) $HBKIVO ML g Y page size tb#g A — ¥
(D) &% M4 page fault g9k $t R 2§ # ¥ page size L # X — %,

39. °F FUA — R R R A4F 4 748 (deadlock) 4 s B4% 44 T ’

(A) mutual exclusion (B) hold and wait (C) preemption (D) circular wait
40, — AR 34 5L 4 (deadlock) # BT A8 R ShERFR T FI 45946 £ 4 © deadlock prevention, deadlock avoidanqe,
deadlock detection #a

(A) deadlock control (B) deadlock correction (C) deadlock recovery (D) deadlock tolerance

41. 3£ %18 PC L8457 —1@ B R A R BO(107) R Kok BRE— DT IARIL 500 £ 5K > w0 R8T
18R Bk 4% ) — 18 % 10000 &6 TAE M R #4T 0 R BT A5 — 44T IAKIZ S VD B F 4 9
(A) 5,000,000 (B) 50,000 (C) 2,000 (D) 504
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42. A(m, n) & —fg = = 3 8 5| (integer array) » {7 1% 45— —REH R 8 byter MB AG, DA E B 1110

AR, 3)E M E A 1115 - BT 51— B4k it A 48 0y
A A(L, Hh4e § & 1120 B)m=6  (C)A(, e E A 1114 D) n & Kb 5518 4a

43. F — 18 = SR B FA(infix)ik 8%  XIEF A EFGBH CDATRS: mkmm 4&F§(postﬁx)xémat— ' Rl

A% GFEHDCBTSRA - zxrw—mmm‘rﬁr(meﬁx)x&méﬁ%éﬁm%ﬁ‘?
(A)JARSTBCDHEFG (BVABRECTSFHDG
(C)ABCDEFGHRST (D)ABEFGCHDRTS

44. F 7 10 18 4 5 50 8% 75 4518 7 I(array) % > 3% P — 48 % T LAY 8%, heap tree ?

(A)9873450162 (B)9683427519¢0 (C)9782645013 D)9687543210

45. T B & —18 game-tree » & 4% A min-max procedure 4 1+ . root &4 4§ CRIBAT S RMAFTURS
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“usenum and name of the user to whom the pc has been assigned. (Underline means primary key)(6%) j ,
SELECT B
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There are two relations “pc” and “user”. Pc has attributes “id”, “comp”, “usenum” and “place”. User has [~
attributes “usenum”, “name” and “office”. Use SQL to do the following: For each pc, list the id together with the }%
7y

FROM

- WHERE

A relation is in BCNF if it is in first normal form, and no , and if the only determinants it contains
are - (4%)

The -acceptance test, also called test, exercises the system as a whole in a way that reflects the

activities of its intended users. (3%)

When two or more modules refer to the same common or global area, _ coupling exists between those
modules. (3%)
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—HRETET kMo — > 4 W (adaptive) 45 E 4 3 (corrective) 1 1 Iy 4% (preventive) - (3%)
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#include <iostream.h>
int  main()

int a;
int  *aPtr,

a=17,
aPtr = &a;
cout << "The value of &a is " << &a
<< "\nThe value of aPtr is " << aPtr;
cout << "\nThe value of *aPtr ig " << *aPtr;
cout << "\nThe value of &*aPtr is " << &*aPtr

<<"\nThe value of *&aPtr is " << *&aPtr <<end!'
return 0;

}

3. BT 7 Java 2 X @ LA F R
31 BABIT RGP N E BT ?(3%)
3.2 MU R ¥ F4(Brent) 4y &4k - 3%)
33 B HHUT A K o9 HTML 4% ? 3%)

# e mfn
st H AR

2. MR TH Java BRAPAT R R - (5%)

public class Picture {
public static void main( String args{] )
{
int row, stars, spaces;
String str ="

for (row = 1; row <= 5; row++) {
for ('spaces = 5; spaces > row; spaces-- )
Str +,~_ oy ;
for ( stars = 1; stars <= (2 * row) 1; stars++)
Str +___ Vl*ﬂ .
St‘r +._ ll\nll .
}
for (row = 4; row >= |; row--) {
for ( spaces = 5; spaces > TOW; spaces-- )
strt="",
for (stars = 1; stars <= (2 * row ) - 1; stars++)
Str 4= "
str += u\nn ;
}
System.out.printin str );
System.exit( 0 );

3.4 § 82 X #1475 methods(init, actionPerformed, stringFunction)=f = & 8 & B t% - (3%)

3.5 BRIk - 3%)

import java.awt.*;
import java.awt.event.*;
import javax.swing.*;

{
String string;
char copyChars[], chars[];
JLabel label;
JTextField input;
JTextArea output;
int copied, unknown;

public void init()

label = new JLabel( "Enter a string:" );
input = new JTextField( 20 );
input.addActionListener( this );

output = new JTextArea( 5, 20 );
output.setEditable( false );

Container container = getContentPane();
container.setLayout( new FlowLayout() );
container.add( labe] );

container.add( input);

container.add( output );

public class AAA extends JApplet implements ActionListener

public void actionPerformed( ActionEvent event )
{

copied = (;

unknown = (;

string = input.getText();

copyChars = string.toCharArray();

chars = new char[ copyChars.length ];

stringFunction( copyChars );

String outputString ="";
for (int count = 0; count < chars.length;
count++ )
outputString += chars[ count J;
output.setText( outputString ),
}  // end method actionPerformed

public void stringFunction( char charArray[] )

\

Tl

RPN

{
if ( copied >= charArray.length )
return;
else {
copied++;
stringFunction( charArray );
chars[ unknown++ | = charArray{ --copied ;
}
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